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AR MY 5,341,428 5,341,428 0
2 3,739,000 3,739,000 0
- 1,602,428 1,602,428 0
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2 281,000 281,000 0
= 120,428 120,428 0
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2 700 2,020 A 1,320
= 300 867 67
03 Al& £ THH| 1,000 2,887 1,887
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2R 401,428,0002 * 0.24%% 1,000 2,887 1,887
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2 280,300 278,980 1,320
= 120,128 119,561 567
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2 A 400,428,0008 * 14! 400,428 398,541 1,887
2 280,300 278,980 1,320
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LTS S NHIAY 1,644,286 1,644,286
2 1,151,000 1,151,000
= 493,286 493,286 0
401 AlEHI 2 2 THHI 1,984 5,919 A3,935
2 1,388 4,143 A2,755
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03 Al = TH bl 1,984 5,919 ~3,935
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A 1,642,302,0008 + 14 1,642,302 1,638,367 3,935
3 1,149,612 1,146,857 2,755
2 492,690 491,510 1,180
YoIZAS SHIHIAY 1,528,572 1,528,572 0
= 1,070,000 1,070,000 0
2 458,572 458,572 0
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